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1) Calculate the dot product for each pair.
a) b)

|b| =230
|| =145

gog g !&o(éS)wS(l'JO)
-3

= - 300 b < 145 (539) cos (IT)
= 399,76

2) Calculate the dot product for each pair of vectors. 8 is the angle between the vectors when they are placed

tail to tail.
‘|| =7, |¥]| =12, and 8=47° b) |$] =520, |f| = 745, and 6= 135°
.) —
2.7 = 7 o5 C47) St = 53(7u8)eg (!'35)
& 57,29 - -373933 {7

3) Calculate the dot product of each pair of vectors.

a)d=1[5,8),b=1[-2 1] b)¢=[-1,8],d=[3,-3]
2. = SeN ) Eod = -13)+%C-3)
: -7 = _27
¢) [=20-3], i =90 + 4] d)il=—60+7],3=31—-2f
-

[>T3,-3)  me= [-9,4] T=(-¢T) ¥ : (3 -7
- o = ~6(3 i
[. s :3(‘@ i (‘3)@!) Uey ( )“ 7 3~>

T -3

= = pi@



4) Decide whether the following expressions have meaning or not. If not, explain why.

a)i- (V- w) b) |1 - ¥ c) (- W) d) |i? e) U2 f) (@ - )2
No YeS Ves Yes NO Ye's
Com'y et octos Con + byl
Wil SC.No.r

Wctorg
5) Letd =[1, -2], b= [2, 5], and € = [4, —1]. Evaluate the following if possible. If not possible, explain why not

a)d-(b+07)

=[1,-37 '([1)3—) i [‘f)“_ﬂ - ([l)‘ﬂ ¥ bfﬂ) - ‘:‘f)-q
* L) 6,47 = [%3)-(%-0)

1(6) + (<N

T YR
T -2 et Ct

d) (3d + 2b) - (4d — b)

= (3012043 (,57) (40,4 - (3,5])
= (3,6 [q)\o])- (ry,-¢] - [1»52)
[7) Ll‘) i [‘1) "3]

b)(@+Db)-¢

¥

) @+b) (@+03)

= (U 35 (01,574 4,-17)

. {‘3)’5] ’ [6) ,
= 35 +3(-3)

o

- '- j/(zazéwc—(%}

e)d-b-¢ fla-b+d-¢é

Not possible. 003 s g e Oy -ale [4,-1
%6 1% o Scodor. = 1) v (US) + L)+ (-2)()
Ny do € with o slar. =T

g) 4B - (—28) hKd + B)- g
4 fa,5) - (-304,-7) = (-0 (257 (9,-
* [%:36) [-4,2) * 03,3004
= %(-¥) + 20 (3 P e

= -0y =1



6) Determine a value of t sothat =[9, t] and ¥ = [-16, t] are perpendicular.
- =D .
< pesp encticular )y UV T QA

Cq)t]° E(()t] =G
JGE)t L) - o

-(1 = N‘{
= i
7) Find a vector that is perpendicular to @ = [3,—1]. Verify that the vectors are perpendicular.
p 2o e ; Yorteld -
o = [;_5) "(l L = {‘7 )K] B - T
5 o ) [3.- 1)
d) M 6‘ < 0 =9 B
Y+ D)y O = -1
3¢ )*‘ 1) - _' C\m\gxz 1 SIEYON
k=(5 ~ —— L E')_))'} l1I
L [6) \g Qeck, (1537 . 03.-1]
j o T 3x(-3)

e =0
8) Which of the following is a right-angled triangle? Identify the right angle in that triangle.

e AABCfor A(3,1), B(—2,3), and C(5,6)
o ASTU for S(4,6), T(—3,7), and U(—5, —4)

-)
A= (5,3 5= (7,07
8¢ = (7,3 ] -
A 1[1,‘5] iﬁi = [‘?)-lo‘_]
W = (2 -1
) .
AR « B¢ =-S5+ a(3) =30 71"
B - ae =50 t2s) 20 ST SR - T 1) 2 53
o R)B orh j"é ae perpencicpal . SF.oTo = SN R < S
LA = 90° 2.Tu @ -9@) + (o) = R
& NOT 1 t‘i%\';’ “'rimg\‘g‘
ANSWER KEY:

1)a) —3900 b) 31892.76

2)a) 57.28 b)-273 933.16

3)a)—2 b)-27 ¢)—-30 d)-32
‘a) no, you cannot dot a vector with a scalar b) yes c) yes d} yes e) no, you cannot multiply vectors f) yes
4a)—2 b) 9 c) 6 d) —38 e) not possible- you cannot dot a vector with a scalar f) =2 g) —24 h) 9

6) t=12,-12

7) Answers may vary: [—1, —3], [1, 3], check using the dot product

8) AABC is a right triangle; the right angle is ZBAC




